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Beenenue

Xapakrep IucUUIUIMHBI «ITHOCTpaHHBIN A3BIK» ONPEIEISAET €€ LEJIN: MOBBIILEHUE UCXOIHOTO
YpOBHS BIIQJICHHUsSI THOCTPAHHBIM SI3bIKOM, JOCTUTHYTOTO Ha MpEAbIAYIIeH CTyneHH oOpa30BaHMS,
OBNIaJICHUE OOYyYArOIIMMHUCS HEOOXOIUMBIM U JOCTATOYHBIM YPOBHEM KOMMYHUKATHBHOMN
KOMIIETEHIIMM [UIsl PEIICHUs COLMaJbHO-KOMMYHHKATUBHBIX 3a7ad B Pa3JIMYHBIX 00JacTAX
OBITOBOM, KYJIbTypHOH, NPOPECCHOHATBHON M HAayyHOW MJEATENbHOCTH TIpH OOLICHUH C
3apyOeXHBIMU  TMapTHEpaMH;  COBEPILIECHCTBOBAaHME  JIMHTBUCTUYECKOW  MOATOTOBKH  JUIS
JalbHENIIero caMooOpa3oBaHMUsL.

Juctunnuaa «MHOCTpaHHbBIN s36IK» B cooTBeTcTBUU ¢ PI'OC BhIcHIeTo npodeccuoHaIbHOTro
oOpa3oBaHUs.

3amaya MpakTUYECKOTO Kypca MHOCTPAHHOTO fA3bIKa — 00ECIeYUTh MOJITOTOBKY CIHEI[HANINCTA,
BJIQ/ICIOIET0 MHOCTPAHHBIM S3BIKOM KaK CPEJICTBOM OCYLIECTBJICHUS HAyYHOW JAEATEIbHOCTU B
MHOSI3BIYHOM SI3BIKOBOM CPEJE U CPEACTBOM MEXKKYJIBTYPHOU KOMMYHUKALMHU. CaMOCTOSITENIbHBINA U
nonHeld Kypc "MHoOcTpaHHBIM sI3bIK" B acCOUpaHType MpeaycMaTpUBAET MPEEMCTBEHHOCTh C
BY30BCKMUM  KypcoM  OOy4YeHHMsI M  OTpakaeT  CHelu(uKy  aclmhpaHTCKOTO  Kypca.

Opranuzanusa y4yeOHOro mporecca MO0 MHOCTPAHHOMY fA3BIKY MPEAIojaraeT MaKCHUMallbHbII
y4eT MOoTpeOHOCTEel, MHTEPECOB U JIMYHOCTHBIX KadecTB acnupanTa. [1o100HbII M01X0/1 O3BOIISIET
aCIHUPaHTy BBICTYNATh IIOJHONPABHBIM YYAaCTHUKOM IIpolecca OOydyeHHUs, MOCTPOCHHOIO Ha
MPUHLUIIAX CO3HATEJBHOIO MMAPTHEPCTBA M  B3aMMOJEWCTBHS C MPENOJaBareieM, UTO
HENOCPEACTBEHHO CBS3aHO C PAa3BUTHEM SI3BIKOBOM CAMOCTOSITEIbBHOCTH 00y4aeMoro, €ro
TBOPYECKOMAKTUBHOCTH.

[lepBuuHas akTHBHU3aLUs JEKCUYECKOIO M I'PaMMaTHYECKOIO0 MaTepHalla OCYIIECTBISETCS C
MIOMOILBIO 3JIEMEHTAPHO-TPEHUPOBOYHBIX U YCIIOBHO-PEUEBBIX YIPAKHEHUM, KOTOPHIE €CTECTBEHHO
MOJBOMAT OOyYaeMbBIX K BBHIMOJHEHUIO MPEIPEYeBHIX YNpaXHeHWH. JlanpHeWInas akTHBH3aLUs
SI3bIKOBOTO  MaTepHualla OCYUIECTBJISETCS B IPOLIECCE YTEHUS M MHTEpIpPETaluu TEKCTa.

Jlns  pa3BUTHSL HAaBBIKOB YCTHOM DPEYU NPUBIEKAIOTCS TEKCThl 10 CHELMAIbHOCTH,
UCIIONIb3YEMbIe Ui YTeHHs, a Takke Y4eOHMKHM U ydeOHble TMOCOOUs, COCTaBIECHHBIC
npenojaBaTensiMu kadeapsl. TemaTnka Mo pa3BUTHIO HAaBBIKOB YCTHOM pedd BKJIIOYAeT B ceds
CIeNyIOIME TEMbl: HaydyHblE HMHTEPEChl AaCHUpaHTa, y3Kas CHEeHHATbHOCTh M TeMa
JUCCEPTAIL[MOHHOTO MCCIIEIOBaHMs; HAyYHBIM PYKOBOJIWTENb, MPOUYMUTAHHAS JHUTEpaTypa MO TeMe
JIUCCEPTALMOHHOTO UCCIIEJOBAHMS, " Ip.

CoBepIlIeHCTBOBaHME YMEHUHM UTEHUS HAa HWHOCTPAHHOM S3bIKE IMPENIoJiaraeT OBJAJCHHE
BUJIaMH YTEHHUS C Pa3JIMYHOM CTENEHBbIO MOJHOTHI M TOYHOCTH MOHUMAHUS: IMPOCMOTPOBBIM,
O3HAaKOMHUTENbHBIM W u3y4atouM. [Ipu sTom oOywarommiicss JOKEH HAy4dUThCS H3MEHSTh
XapakTep YTEHMs B 3aBUCUMOCTH OT LIEJIEBOM yCTAHOBKM U  CJIOXKHOCTH  TEKCTa.

[Tpu pa3paboTke KOMIUIEKCHBIX 3aJaHUN YYUTHIBAIOTCA OOJ€e CIIOXKHBIE C TOYKHU 3PEHHS
METOAMKH YCIIOBHsI pabOThl IO CPABHEHUIO CO CTYACHUYECKHUMHM I'pYNIIaMH, a UMEHHO: HeOOJIbIIOe
KOJIMYECTBO 4YacCOB, OTBOAMMOE Ha OOydeHHe, OOJBIION O00bEeM MOIIEKAIIETO YCBOCHUIO
Marepuania; HEOJIMHAKOBBIM YPOBEHb 3HAHUM U BO3PACTHOM COCTAB MOCTYNUBIIMX B ACIUPAHTYPY.

OO0y4eHue aclpaHTOB MEPBOTO rojia 00yuYeHUsI HHOCTPAaHHOMY SI3bIKY MPEIyCMaTpUBaET CBA3b
Tpex AUCHUIUIMH «HOCTpaHHBbIN sA3bIK», «HayuHas u nenoBas MEXKYJIbTYpHasi KOMMYHUKALIUS) U
«/lenoBasi mucpMeHHasi KOMMYHUKALIHSI.

[Iporiecc u3ydeHHs AMCUUIUIMHBI HampaBlieH Ha (opmupoBanue kommereHimid: YK-3 -
BJIaJICHHUE OJIHUM W3 MHOCTPAHHBIX S3bIKOB HA YPOBHE HE HUXKe pa3roBopHoro; YK-4 - cmocoOHOCTH
CBOOO/THO TIOJIH30BATHCS HHOCTPAHHBIMH S3bIKAMH KaK CPEICTBOM MPOGECCHOHATBHOTO OOIEHUS.

B cootBercTBHM ¢ paboueli mporpaMMoi B pe3yibTaTe N3YUEeHUs AUCHUILIMHBI 00yYaromuics
JIOJKEH:
3namsp: ipodeCcCHOHATBHYIO JIGKCUKY Ha MHOCTPAHHOM SI3BIKE;

Ymems: nepeBouth 001ME U TPOPECCHOHATBHBIE TEKCTH HA MHOCTPAHHOM SI3bIKE;
Bnaodemw: opHUM U3 MTHOCTPAHHBIX SI3bIKOB HA YPOBHE Pa3rOBOPHOIO MJIM YUTATh U MEPEBOJUTH CO
CIIOBapeM.



UNIT 1

VOCABULARY

A. Nouns

Most nouns in English are countable, but the following are generally
uncountable, i.e. they are not usually used with numbers or the plural ‘-s’.

accommodation — information — scenery — mangmadT
pa3MenieHue uHbOopMaIus

advice — coser, knowledge — 3nanue staff — mrrar, mepconan
pEeKOMEH1alus

behaviour — nmosenenue

MONeYy — AeHbI'N

traffic — nBmxenue,
TPAHCIIOPT

commerce — ToproBJil,
KOMMEPLUS

NEewWS — n3BeCTUC, HOBOCThH

travel — myremectBue

data — nauusie, (hakThI,
CBEICHMS; MH(OpMAIHsI

permission — pasperieHue

trouble — GecniokoiicTBo,
BOJIHEHHUE, TPEBOTa

education — odpa3oBaHue;
o0yueHue

progress — mporpecc,
pa3BUTHE

vocabulary — nekcuka

equipment —
000py10BaHUE;
OCHAIIICHUC

research — ucciaenosanue;
U3yUCHUEC

weather — morona

furniture — me6enp

rubbish — mycop

work — pabora

Another group of uncountable nouns is used for materials:

For example: wood (npeBecuna) /rubber (pesuna; kayuyk) / iron ((>keneso,
cTaib, uyryH) / paper (oymara) / oil (macno; HedTs) /Stone (kameHb)

Little wood is used in the construction of motor vehicles.

Huge amounts of paper are used to produce magazines.

Many of these nouns can be used as countable nouns with a rather

different meaning:

Over twenty daily papers (zazem) are published in Delhi.

Most woods (zecoe) are home to a wide variety of birds.

The most difficult group can be used as either countable or uncountable
nouns, often with quite different meanings, for example: business(komnanus;
ousnec) [capital (kanuman; cmonuua) /experience(wcuznennslii onsim; cayuai).

She developed an interest (unmepec, 3aunmepecosannocms) in bio-genetics.

The bank is paying 4% interest (npouernmat) 0n 6-month deposits.

Other nouns with a similar pattern are used for general concepts

(love/fear/hope).

For example: Most people feel that life is too short. (in general)
Nearly twenty lives were lost in the mining accident. (in particular)




Note the importance of the type of noun in the following structures (U —
uncountable C — countable):
QUESTIONS How much accommodation (U) is available for rent?
How many rooms (C) are vacant next month?
NEGATIVES Not much/Little equipment (U) was needed for the experiment.
Not many/Few machines (C) were functioning in the IT room.

Ex.1. Complete the following sentences to show the differences in meaning.
. Three years’ work experience .

. She had some exciting experiences while

. Most small businesses have

. In many countries it is normal to discuss business :
. A number of capitals such as Washington and Canberra are
. Huge amounts of capital are needed

. Two world wars in 30 years caused

. War is a feature of :

was the cause of six deaths.

10. Death is

11. New medicines are being developed

12. Studying medicine at university can be

©OCoOo~NOoO ULk, WN =

Ex.2. In the following sentences, choose the correct alternative.

1. Little/few news reached the prisoners in the castle.

2. He established three successful businesses/business in 1995.

3. Substantial experiences/experience of report writing are/is required.

4. It has often been claimed that travel broadens/travels broaden the mind.

5. Paper was/papers were very expensive in the twelfth century.

6. How much advice/many advices were they given before coming to Britain?

7. She had little interest/few interests outside her work.

8. The insurance policy excludes the effects of civil war/wars.

9. Irons were/iron was first powered by electricity in the twentieth century.

10. They studied the behaviour/behaviours of three groups of lions over 2
years.

Ex.3. Complete the gaps in the following paragraph with much/many/
little/few.

Very 1) data is available to students of housing of the sixth to ninth
centuries AD. No complete examples survive, and researchers are not certain how 2)
information can be taken from the literature. It is not clear how 3)
people lived in each house, and in the 4) sites that have been investigated
(only four in the whole country) 5) progress has been made towards finding a

standard floor plan.

A range of ‘umbrella’ nouns is used to express basic ideas in academic
writing:



Molecular biology is an interesting new field.

The concept of class was first discussed in the eighteenth century.
Freud developed a new approach in his second book.

They are rather formal and need to be used accurately.

Ex.3. Read the following and find a synonym for each word in italics from
the box.

feature
theory

Views cause

machine

consideration  area
process organisation

event  types
problem

1. The second factor in the accident was the cold weather.

2. Harvey’s concept of the circulation of the blood was first presented in 1628.

3. Snow is a rare phenomenon in Rome.

4. The President’s resignation gave a new aspect to the national crisis.

5. A barcode scanner is a device used at supermarket checkouts.

6. Her field is the history of life insurance.

7. The National Institute for Clinical Excellence is a body created to assess
medical drugs.

8. Mendel’s work on genetics provided new perspectives for biologists.

9. Their main concern is to prevent pollution in rivers and lakes.

10. Their new system allows errors to be detected in 12 seconds.

11. The survey identified three categories of bus user.

12. The most serious issue raised at the meeting was student

accommaodation.

Ex.4. Insert a suitable umbrella noun in the following sentences.
. The Students’ Union is a designed to promote students’ interests.
. Rainbows are a common natural
. Completion of the new building was delayed by safety

. In 1956 he patented a for measuring the height of waves.

. Jung’s

. His paper examined three

1
2
3
4. Environmental law is an increasingly popular
5
6
7

of the ‘anima’ has been strongly criticised.
of the problem of tissue rejection.

8. Three of father were identified; ‘involved’, ‘semi-detached’ and
‘disengaged’.

9. The main discussed was lack of support from tutors.

10. One in the collapse of the business was the rise in oil prices.

11. The discovery of DNA created fresh

in medicine.

A lot of important nouns in academic English are used with prepositions.

For example:

nouns

examples

article (on) — crares

She wrote an article on the subject of her research.

theme (of) — rema,

The quest for power is the underlying theme of the film.




npeaMeT

list (of) The students were given a list of essay topics.
CIIMCOK, IICPCUYCHDb,
issue (of) — We should raise the issue of discrimination with the council.
npoOema

theory (of) — Teopus

Einstein's theory of gravitation has been questioned recently.

model (of) — moxens

The model of climate change presented in the review seems
to be becoming a reality.

nature (of) —

He examined the nature of the relationship between the two

CYIITHOCTh communities.
principle (of) — Human behaviour is based on the principle of least effort.
IMPaBHJIO, 3aKOH,

ITPUHIUAII

aspect (of) — acmexr,
TIO/IXO/J], CTOPOHA

In computer science, an aspect of a program is a feature
linked to many other parts of the program, but which is not
related to the program's primary function.

feature (of) —
OCOOCHHOCTD,
XapaKTepHas 4eprTa;
JeTanb, IpU3HaK,

One of the distinguishing features of modern banking is its
dependence on computers.

CBOMCTBO
scope (of) — A full discussion of that issue is beyond the scope of this
rpaHuilel, pamMmu, | book.
peaesibl
pattern (of) — The child showed a normal pattern of development.
MOOCIIb
number (of) — A number of different types of station design are shown
KOJIMYECTBO below and the advantages and disadvantages of each are

discussed.

Ex.5. Choose the most appropriate noun to complete each sentence.
1. Environmental topics / issues / principals should be at the top of today's

political agenda.

2. In the exam students have to choose three from a choice of ten essay subjects

/ theories / topics.

3. There are still people who are reluctant to accept Darwin's model / topic /

theory of evolution.

4. The professor decided to take moral courage as the issue / theme / model of

his inaugural lecture.

5. The London Underground map is best understood as a model / principle /
topic showing how the different stations relate to one another rather than a precise
representation of their distances from each other.

6. The Peter Issue / Principle / Theme states that members of a hierarchy are
promoted until they reach the level at which they are no longer competent.



http://en.wikipedia.org/wiki/Computer_science

7. Newton developed a pattern / theory / principle of colour.

8. Although even Newton was bothered by the unknown principle / subject /
nature of the gravitational force, the basic framework was extremely successful at
describing motion.

9. Consequently, in 1907 Einstein wrote an issue / article / aspect on
acceleration under special relativity.

10. The height of contact plate can vary between 980 und 1150 mm, so that a
growing number / aspect / scope of wagons can be adjusted in height accordingly.

11. Finally the very special systems include many older approaches to
intermodal business, some outdated and some newly invented, which are outside the
number / aspect / scope of space available here.

12. In Indochina all previous models / patterns / aspects of America's
involvement abroad were shattered.

Ex.6. Correct the prepositions in the phrases underlined in the paragraph
below. Consult a dictionary if necessary.

The study showed that local police can play an important role in crime
prevention. It makes a strong case of boosting the numbers of community police
officers although it warns against increasing police presence on the streets at an
alarming degree. Its methodological was base on a range of interviews asking
members of the public for their views in how best to prevent crime. Unfortunately,
how to implement this recomendation was out of the scope of the study but at least it
serves a useful purpose in raising awareness to the issue.

B. Verbs

English often has two (or more) choices to express an action. The choice is
often between a phrasal or prepositional verb (verb + preposition) and a single
verb, the latter with Latinate origins. Often in lectures and other instances of
everyday spoken English, the verb + preposition is used; however, for written
academic style, the preferred choice is a single verb wherever possible. This is one
of the most dramatic stylistic shifts from informal to formal style.

E.g. Researchers looked at the way strain builds up around a fault. (less formal
style)

Researchers observed the way strain accumulates around a fault.

(academic style)

Ex. 1. Choose a verb from the list that reduces the informality of each
sentence. Substitute the verbs in italics in the sentences below with a verb in the
correct form.

assist reduce create investigate raise establish
increase  determine fluctuate eliminate

1. Expert Systems can help out the user in the diagnosis of problems.
2. This program was set up to improve access to medical care.



http://en.wikipedia.org/wiki/Special_relativity

3. Research expenditures have gone up to nearly $350 million.

4. The use of optical character readers (OCRs) should cut down the number of
problems with the U.S. mail service.

5. Researchers have found out that this drug has serious side effects.

6. Building a nuclear power plant will not get rid of the energy problem
completely.

7. Researchers have been looking into this problem for 15 years now.

8. This issue was brought up during the investigation.

9. Engineers can come up with better designs using CAD.

10. The emission levels have been going up and down.

Ex. 2. Reduce the informality of each sentence by substituting a single verb
for the one in italics. Use the dictionary.

1. The implementation of computer-integrated-manufacturing (CIM) has
brought about some serious problems.

2. The process should be done over until the desired results are achieved.

3. Plans are being made to come up with a database containing detailed
environmental information for the region.

4. Subtle changes in the earth's crust were picked up by these new devices.

5. Proposals to construct new nuclear reactors have met with great resistance
from environmentalists.

6. He proposes to trigger of discussions on planning procedures.

7. The patients are wired up to different machines for tests.

8. The sum comes to the same figures, worked up either way.

9. He wrote up his research results in a report of over 600 pages.

10. It's up to the director to sort out difficulties like this one.

11. Interest rates should come down.

Ex.3. Look at the table, and complete the sentences with words and
phrases from the box. In some cases, more than one answer is possible. There is
one word or phrase that you do not need.

Petrol prices

January £1.10/ litre June £ 1.55/litre

February £1.12/litre July £ 1.52/litre

March £ 1.15/litre August &£ 1.53/litre

April &£1.18/litre September £ 1.58 /litre

May &£1.16/litre October £ 1.60 /litre
downward trend dramatically gradually sharply slightly

steadily

upward trend




1. Between January and April, petrol prices increased /
2. In May, petrol prices fell

3. In June, petrol prices rose /

4. Overall, there has been an in petrol prices

Ex. 4. Complete these sentences with the correct form of one of the verbs
in the box. Both sentences in each sentence pair should use the same verb. In
some cases, the meaning of the verb may change slightly.

adjust alter deteriorate exchange fade
reduce renovate swell switch vary

Example: a) Moving to the countryside radically altered our lifestyle.
b) Some people choose to alter their appearance with surgery.
1. a) By to a different provider, it can be possible to pay much less for
your mobile phone bills.
b) | chose drama as an extra-curricular activity, but to photography
a few weeks later.
2. a)lt can take time to to living in a different country.
b) Prices seem low, but when you them to allow for tax, they are
considerably higher.
3. a) The noise built up rapidly, and then just as quickly it into the
distance.
b) As the applause, the speaker started talking.
4. a) The amount of tax you pay on a car according to the amount of
carbon dioxide it emits.
b) People's reactions to the medicine a lot, with some people
complaining it has no effect at all.
5. a) Everyone should try to the amount of fat in their diet.
b) Many companies were forced to their workforce during the
recession.
7. a) Economic crises often into social unrest.
b) The weather rapidly when it started raining and the winds picked
up.
8. a) Ankles and other joints often when people travel by air.
b) The town is home to 3,000 people, but this figure to 12,000 in the
same summer.
9. a) The tokens can be for food in the student canteen.
b) Shops will normally damaged goods if you have a receipt.
10. a) Businesses in the city centre were offered funding so they could
their premises.
b) In some cases it can be more expensive to an old building than
knock it down and build a new one.




You should note a number of things about verbs in an academic context,

in particular:

¢ any nouns often used with the verb and whether the noun goes before or

after the verb;

e any adverbs often used with the verb;

e any prepositions often used with the verb;
e if the verb is often used in the passive.

verbs nouns adverbs examples
base (on) — 6asupoBarb, | research, theory, [ mainly, partly, | The theory is
000CHOBBIBATH; story, hypotheses, | loosely mainly based on the
OCHOBBIBATH study, technology writer’s initial
study.
associate (with) — word, idea, generally, A decrease in
acCOIMMPOBATh, theory, term, commonly, consumer spending
CBSI3BIBATH needs, problem invariably is generally
associated with
fears of instability
discuss — obcyxnarb idea, problem, at length, His article discusses
Issue, question briefly, the issue
thoroughly thoroughly.
establish — relationship, firmly, clearly, | Lopes conclusively
yCTaHaBIIUBATh connection conclusively | establishes a
relationship
between the two
phenomena.
examine — facts, evidence, briefly, Our aim s to
paccMaTpuBaTh effects, aspects critically, thoroughly examine
thoroughly the effects of stress.
demonstrate — existence, need, clearly, His work
JIOKa3bIBaTh effects, convincingly | convincingly
importance demonstrates the
need for a new
approach to the
problem.
identify (with) — causes, factors, correctly, The article clearly
OTIPEICIIATh Issues, properties, | clearly, closely | identifies the factors

needs, approach,

influencing the

origin decision to be
taken.
POSe — CTaBUTH question, inevitably This inevitably
challenge poses a question

concerning the
stability of society.




suggest — npeaarathb interpretation, strongly The most recent
approach, method results strongly
etc. suggest a different
interpretation of the
situation.
list — cocraBsars cimcok | hypotheses, simply Here | simply list
causes, features, the main features;
characteristics they will be
examined in detail
below.
refer (to) — notes, study, frequently, The book refers in
00paIaThCs;0THOCUTh specifically, in | passing to the
passing economic crisis of
2008.
observe — nabmonarh changes, trends, This is due to the
differences changes we observe
earlier.

Ex. 5. Complete each sentence with the most appropriate adverb for the
verb.

1. Paulson’s research demonstrated the need for a new approach to the
study of stress. (invariably, convincingly, closely)

2. As was observed, there is a strong correlation between prices and
inflation. (closely, critically, earlier)

3. In the study of language, ‘tense’ refers to the coding of time in the
form of the verb. (specifically, strongly, briefly)

4. Classical liberal economics is identified with the theories of Milton
Friedman. (thoroughly, closely, conclusively)

5. Chapter 1 discusses the main issues, but they are dealt with in greater
detail in Chapter 2. (closely, simply, briefly)

6. Today, no research exists that establishes a connection behavior,
personality and leadership traits. (firmly, thoroughly, critically)

7. SENTA is a computer programming language based on Logo.
(strongly, slightly, loosely)

8. Social research techniques were applied to examine the effects of the

policy on the poor. (strongly, mainly, critically)

Ex. 6. Complete each sentence with a suitable noun from the table above.
There may be more than one answer.

1. Here we list again the main of the present study, and show which
have been proven and which have been rejected.

2. The graph enables us to observe recent broad in interest rates.

3. The researchers concluded that it is still difficult to identify the of

the time-related changes in human beings.



4. A seminar was held to discuss the of the global economic crisis.

5. We demonstrated the for a comprehensive plan to carry out the
research.

6. These figures lead me to suggest an alternative

7. It is clear that this development pose a new

8. Before we reach any conclusion, it is important to examine the

9. The term 'technology' before the 20th century usually referred to the
of the useful arts

10. Generally, nanotechnology is associated with the of developing
materials, devices, or other structures with at least one dimension sized from 1 to 100
nanometres.

11. Hungary established diplomatic with Chile in 1990.
12. The following description of intermodal business aspects is based on
standardised, widely accepted rail-road , available throughout Europe.

C. Adjectives

English has a very rich vocabulary derived from many languages. Because of
this, there may be more than one way to express an idea. You should strive to
choose words that are less informal in nature and also precise. In lectures, you will
likely hear less formal speech; however, in writing you should use a more formal
form if one exists

To read and write academic texts effectively you need to be familiar with
the vocabulary generally used in this context.

Ex. 1. Which of the underlined words would be more suitable for an
academic paper?

1. The government has made good / considerable progress in solving numerous
environmental problems.

2. We got / obtained encouraging results.

3. The results of a lot of | numerous different projects have been pretty good /
encouraging.

4. A loss of jobs is one of the things that will happen / consequence if the
process is automated.

5. Egypt comprehended anciently a great / prodigious number of cities.

6. There is a large difference / discrepancy between the ideal image of
motherhood and the reality.

7. An informer gave / supplied the police with the names of those involved in
the crime.

8. It is not easy / feasible to put most finds from excavations on public display.

9. The size / extent of kite's wings is more than five feet.

10. A nuclear reactor of a modern / sophisticated type was put into operation.

Ex.2. The following are examples of some of the more common items.
Read and translate the words given in the table
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adjective

noun

verb

analytical — analysis — anamus, analyze — aHajau3upoBaTh
aHaJIMTUYECCKUU HN3YyUCHUC, NCCIICAOBAHUC
creative — TBopueckuii creation — cosyanue create — co3naBathb
correlative — correlation — correlate —
COOTBCTCTBYIOHII/Iﬁ COOTHOILLICHHUEC YCTaHABJIMBATH
COOTHOIICHUC,
KOppEINPOBaTh
definitive — xapakrepusiii, | definition — onpenenenne define — onpenensath
ONPEAECICHHBIN
evaluative — oreHOYHBII evaluation — oreska evaluate — oneHuBaTh
generalized — generalization — generalize — 060061aTh
0000IIEHHBII 0060011IeHNe
hypothetical — hypothesis — hypothesize —
TUIIOTETUYECCKUMN TUIIOTE3a IpcajiaraTb ruroTe3y
indicative — indication — ykazanue / indicate — moka3sIBaTh
YKa3bIBAIOITHI indicator — mpu3Hax
predictive — prediction — nporuno3/ | predict — mporao3upoBaTh
IpeICKa3bIBAOIINI predictor —
IMpCaACKa3aTcCiib
responsive — response — peakuus respond — pearupoBaTh
pearupyromun
significant — significance — BaxHOCTb, signify — 3HauuTh
CYHICCTBCHHLIfl, 3HAYUTCIBHOCTH
3HAYUTEIbHBIN
synthetic — synthesis — cunTes, synthesize —
CUHTETHYECKUN 00001eHNe CUHTE3UPOBATh
variable — variation — vary — MeHsThCH,
PIBMCHH}OHIPIIZCH Pa3SHOBUIHOCTL, BAPHAHT / N3MCHATHCA

variable — nepemennas

a) Choose the most suitable word ending in each case.

1. Arthur C. Clarke’s pred___ of earth satellites came true in 1957.

2. Asignif__ number of students have chosen to do that project.

3. The rate of increase var between 5% and 8% during the period.

4. The first computer was creat_ during the Second World War.

5. Scientists frequently need to ask hypoth questions.

6. Green can be made from a synth of blue and yellow.

7. The signif of vitamins in diet was understood in the early twentieth

century.

8. The essays were evaluat in terms of content and accuracy.
9.Their research shows a strong correl between size and longevity.
10.Her anal approach led her to propose six types of criminals.




11. His most signif political achievement was the abolition of the death
penalty.

12. The law was passed in respon to public pressure.

13. Having recurrent dreams is not necessarily indicat_  of any
psychological problem.

14. 70% of the workers can be defin as low-paid.

15. The study concluded that the vari between the CD players was very

small.

variables indicate hypothesis  synthesize creations generalizations
responded creative  correlation definitive  synthesis evaluation
predictions  analyzed

b) Complete each sentence with a suitable word from the table

1. First results that this treatment benefits patients in 70-80% of cases.

2. Professor Strauss wrote the work on spiders in the Balkans.

3. Most need to be made with care.

4. All the animals to the noise by becoming agitated.

5. Over 3,500 questionnaires were in terms of social class.

6. Three need to be considered when predicting

7. The symbol used that the frequency is measured in kHz.

8. His speech was a of ideas put forward by various individuals.

9. Most countries have systems of government that are relatively modern

10. We need to carry out a proper of the new system.

11. We hope that further research will confirm our

12. There is a direct between the best-known brands and the best-
selling brands.

13. You can't make about what men and women are like.

14. This branch of computer science aims to goal-orientated processes
such as problem-solving, decision-making, environmental adaptation, learning and
communication which are found in humans and animals.

15. It turns out that the company's report of record profits last year was due to
some accounting.

Ex.4. The following adjectives are best understood and learnt as opposites:

absolute relative
a0COJIFOTHBIHN OTHOCHUTEIbHBIN
abstract concrete
aOCTpaKTHBIN KOHKPETHBIN
logical illogical
JIOTUYHBIN HEJIOTUYHBIN
metaphorical literal
oOpa3HbIii OyKBaJIbHBII




precise approximate
TOYHBIN IPUOIN3UTEIIHHBIN
rational irrational
palMOHAIIBHBIN | UPPALMOHAIBHBIN
relevant irrelevant
pEIICBAaHTHBIN HETIOAXO AN
subjective objective
CyObEKTHBHBIM 00bEKTHBHBIM
theoretical empirical
TEOPETUYECKUM | OMIUPUYECKUN

Translate the sentences paying attention to the adjectives in italics.

1. Faith, hope and charity are all abstract concepts. 2. The metaphorical use of
the word ‘key’ is probably more common than its literal one. 3. The study of
statistics is highly relevant to economics. 4. Her study of women’s social position
was criticised for being too subjective. 5. In Europe, empirical research began in the
sixteenth century. 6. It was difficult to get precise information. 7. It is illogical to
assume you can do the work of three people. 8. I'm sure there's a perfectly rational
explanation. 9. What does that mean in concrete terms? 10. Scientists need to be
objective when doing research. 11. What experience do you have that is relevant to
this position? 12. Can you give me the approximate cost of the repair? 13. He became
irrational as the fever got worse. 14. The country is ruled by an absolute dictator. 15.
In reviewing applicants, we consider both objective criteria, such as test scores, and
subjective criteria, such as leadership ability.

Ex. 5. Complete each sentence with a suitable adjective from the box.

literal
precise

theoretical
approximate

irrational
objective

abstract
concrete

subjective
logical

empirical
irrelevant

number killed in the war will never be known.
approach led him to ignore some inconvenient facts.
ideas, such as astrology, are still popular.
figures for national populations.
biography be written.
to his new job as a

. The

. His

. Many

. It is sufficient to give

. Only after 200 years could an

. Although he was a qualified dentist it was
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priest.

. Cathedrals are a

. They provided considerable
. We have been discussing the problem in a very

10. The information is displayed in a simple and fashion.

11. There is always the danger of making a judgment.

12. One shouldn't take this as a record of events.

example of religious faith.
evidence to support their argument.
manner.

© o ~




Adjectives combine with nouns. Study the combinations in the following
table.

adjective nouns
Important Baxxubrii | aspect, contribution, difference, implications, point, question,
reason, element
significant increase, decrease, reduction, number, proportion
3HAYUTEIIbHBIN
mayjor role, changes, problem, factor, issue, concern, theme,
3HAYUTENIbHBIH | contribution, point, difference
enormous amount, expansion, range, number, diversity, difference,
IpOMa/THBIN variation, extent, degree, impact, power, interest, significance,
considerable influence
3HAYUTEIbHBIN
particular interest, attention, significance, importance, concern
crienupuIecKuit
widespread belief, acceptance, support, opposition, assumption, use
IIIUPOKO
pacnpoCTpaHEHHBIN
common knowledge, ground, feature, interest
o0ImMii, BceoOomuit
specific context, information, case, time, form, purpose, characteristic,
0COOBIT conditions, example
inevitable consequence, outcome, collapse, decline, conflict, efect,
HEN30SKHBIN developments
explicit reference, statement, comparison, account, mention, argument
SIBHBIN
relevant data, documents, information, details, factors
BayKHBIN

Ex.6. Complete each sentence with an appropriate adjective or noun.

1. Davidson did a considerable of research into earthquake prediction.

2. Rawlinson drew attention to the problem of energy consumption.

3.Werner's work had an enormous on the way we design bridges
today.

4. A proportion of Thomaz's was devoted to international law.

5. Prestyn made only a contribution to modern psychology, but it was
an interesting one.

6. Backlov's work has some extremely implications for our work today.

7. Aristotle offered an argument against some of the ideas that were
demonstrated during the scientific revolution.

8. The Industrial Revolution marks a turning point in history; almost

every aspect of daily life was influenced in some way.
9. Disease was an inevitable of poor living conditions




10. Of particular IS the rising cost of transportation.

11. There is a support for government policy in urban areas.
12. Itis knowledge that travel broadens the mind.
D. Adverbs

1. Adverbs are used in academic texts in a variety of ways. Among the
most important are:

a) to provide more detail, with verbs and adjectives:

Reasonably good data are available for only . . .

... decomposition eventually ceases in modern landfills . .

b) individually, often at the beginning of sentences, to introduce new points:

Currently, the earth’s atmosphere appears to be . . .

Alternatively, the use of non-conventional renewable energies . . .

2. Adverbs linked to verbs and adjectives usually fall into three groups.
a) Time (when?)

The novel previously published was not very successful.

The new law will be applied retrospectively.

b) Degree (how much?)

The house was considerably more expensive than what we could afford.
Things will remain substantially the same over the next ten years

¢) Manner (in what way?)

This treatment is medically complicated.

They sell new electronic meters that can be read remotely.

3. Adverbs used individually need to be employed with care. It is
dangerous to overuse them, since they are often like the author’s ‘voice’,
commenting on the topic. As the academic writer aims to be objective, adverbs
like fortunately or remarkably may be unsuitable. However, other, less subjective
adverbs can be useful for opening paragraphs or linking ideas. The following
examples are often followed by a comma.

Time Relating ideas
recently clearly
8 nocieonee 8pemMs 0UeBUOHO
increasingly obviously
6 bosvluell cmenenu 04eBUOHO
originally (not) surprisingly
NnepeoHAYAIbHO (He)yOusumenbHo
presently alternatively
ceuvac ajlbmepHamu6Ho
currently similarly
8 Hacmosiujee 6pemsi | n0O0OHBLIM 0OPA30M
traditionally (more) importantly
00bIUHO SHAYUmMeJIbHO




Ex.1. Insert a suitable adverb from the table into the gaps in the sentences.

1. Most houses do not have electricity , then, there is little chance of
improving living standards.

2. , the internet was mainly used for academic purposes.

3. Some courses are assessed purely by exams. . .............. , coursework
may be employed.

4, , there has been growing concern about financing the health service.

5. Many birds use bright colours to attract a mate , flowers advertise
their position to fertilising insects.

6. , the development should be acceptable environmentally.

7. The economy was failing.

8. , young people distrust all forms of government.

9.

10. Your case is being investigated.

11. , with youth unemployment so high, some school-leavers with
qualifications fail to find jobs.

12. , you must keep a record of everything you do.

13. The products that are available are of great demand.

14. The challenges to the world economy have become apparent: the

political implications of the growth of multinationals, environmental degradation,
barriers to the free movement of people, financial crises in emerging markets,
‘failing’ states and international terrorism.

4. The following adverbs are used to describe changes in the rate of
something:

small medium large
gradually substantially quickly
slightly significantly sharply
marginally steadily dramatically
slowly considerably rapidly

Note that certain adverbs are mainly used to describe changes in time:

Production in Russia rose slowly from 1920 to 1929. (a little every year)

Others are commonly used to show changes in amount:

The birth rate increased slightly after the revolution. (by a small quantity)

The most suitable adverb depends on what is being discussed. For
example,

Over the period, the inflation rate fell significantly from 6% to 4.5%.

In 2004, sales dropped slightly, by 1.5%.

Ex.2. Use a suitable adverb to complete the following sentences.

| dramatically steadily marginally slightly  rapidly substantially




quickly  considerably significantly

1. Last year inflation increased from 2% to 2.3%.

2. Life expectancy has risen in the last 20 years, by about 15%.

3. The price was reduced , S0 that a £12 book was offered for £6.

4. Sales rose while he was chairman, averaging 14% per year.

5. The numbers of people voting has declined , from 80% to 65%.

6. The crimerate climbed . .............. in the early 1990s, by 20-25% a
year.

7. In the last four years unemployment has fallen. . . ... ... .. , from 5% to
2.5%.

8. In the first two years of the war the suicide rate dropped . ... ........... :
by over 30% each year.

9. Her condition improved

10. Technologies affect human as well as other animal species' ability
to control and adapt to their natural environments.

Ex.3 Complete the following sentences with the adjective and adverb in
brackets. Use each word once only.

|. The system will shut down . There is an temperature control.
(automatic / automatically).

2. New testing methods have made the process much more . Quality
control now runs more . (efficient / efficiently)

3. Our aim is to ensure operation at the plant. The manufacturing process
should run . (smooth/smoothly)

4. Demand for electricity is ___ lower in the evening. Statistics shaw that
there is a fall in demand after 10 p.m. (general / generally)

5. People are becoming more interested in friendly products. There is a
growing interest in issues. (environmental / environmentally)

6 Safety procedures must be observed to avoid accidents. The manager
in a coal mine must be _ about activities underground. (strict / strictly)

E. Conjunctions and other linking words

Conjunctions are words and phrases such as and or but which join parts of
a sentence together. There are six main types of conjunctions:

a) addition Furthermore, child mortality rates must be examined.

b) result Prices are rising worldwide, thus encouraging investment.

c) reason Due to the strike today’s classes are cancelled.

d) time Thirdly, the role of the architect will be reviewed.

e) example Various writers have examined the issue, for instance Van Exel
(2000).

f) opposition Although this study concentrates mainly on peak-time travellers .



Ex.1. Decide which type (a—f) the following sentences belong to (consult the
rule above).

a) Before the Roman invasion the economy was mainly agricultural. ()

b) The results were checked because they were so surprising. ()

c) Estimates suggest that the effects will continue, but at a more moderate rate.
()

d) Some Asian economies, for example Indonesia, are growing more slowly. ()

e) Moreover, travel information is very important for route planning. ()

f) The findings were ambiguous, therefore the study was revised. ()

g) The deadline is next week, so speed is vital. ()

h) There is a serious problem in the district, namely unemployment.

You can link two ideas in one sentence using and.

For example: Viruses are everywhere, and Microsoft now spend over 30%
of its research and development budget on security issues.

In formal writing, we use more sophisticated words than and. In written
English it is more common to use furthermore / moreover and in addition.

For example: Furthermore, they claim that any such interference is
completely ineffective.

Moreover, research indicates that more women than men were afraid to
negotiate salaries.

The company provides cheap Internet access. In_addition, it makes
shareware freely available.

Ex. 2. Chose the right word in the following sentences.

1. In addition / Also , workers in the baggage sorting area had problems
logging on to the computer system which allocates baggage handlers to load or
unload aircraft.

2. In addition / Also, India and China, which have large populations and
rapidly expanding economies, did not set emission limits, at least not under the terms
of the Kyoto Protocol.

3. In addition / Also, some areas have additional circuits which allow the
signals to be manually held at red from a signal box or control centre, even if the
section is clear.

3. The density of passengers also / and determines the total capacity.

4. Moreover / And, considerable savings of both money and human efforts can
be achieved with the early involvement of human factors in the product design.

5. With nuclear fusion no greenhouse gases are released, very little radioactive
waste is produced, furthermore / and, the primary fuel is abundantly available on
earth.

Ex. 3. Translate the paragraph. Study the use of conjunctions.

The Brazilian coast was hit by a strange storm in March 2004. 1t moved inland
at speeds of over 150 k.p.h. and caused considerable damage. Named Catarina, this
storm behaved like a hurricane but could not have been one. This was because
hurricanes do not occur in the South Atlantic. However, Catarina was not an ordinary



tropical storm since it had a hurricane ‘eye’ and was of hurricane strength. After
checking their records, meteorologists decided that Catarina really was a hurricane,
the first ever recorded in the region. Their research suggests that sea temperatures are
rising rapidly, thereby developing enough energy to cause hurricanes.

Ex. 4. Read and translate the text paying attention to the conjunctions.

Many Asian students chose the college because of its excellent reputation.
Kim, for example, liked the spacious campus. He is self-funded and pays a tuition fee
of 9,500 per year. But many students find language a barrier, so that they only
socialise with other overseas students, while others complain about the college
facilities. Firstly, accommodation is said to be noisy and inconvenient, and
furthermore the library is seen as poorly equipped.

When you want to contrast two pieces of information in a single sentence
and say that the second fact is surprising after the first, you can use although /
though / even though or in spite of / despite. You can begin the sentence with the
link word or put it in the middle.

For example: Although the shooting has stopped for now, the destruction left
behind is enormous.

Pascal went ahead with the experiment even though he knew it was
dangerous.

Despite all our efforts to save the school, the authorities decided to close it.

Even though the British may appear unpleasantly blunt when compared with
some Asian cultures, they are on the whole concerned to offer a way out whenever
a potential conflict between individuals occurs.

Though the faces of euros are identical regardless of where they are minted,
the reverse carries a national image from the country which mints the coin.

In spite of all precautions information was seeping out.

Note:

After although / though / even though you can only have a noun / pronoun +
verb. After in spite of / despite you can only have a noun / pronoun.

Ex. 5. Choose the correct conjunction.

1. Although / in spite of the delay the delivery will still arrive on time.

2. Although/ despite there are advantages to having one organization look after
all consumer complaints, some people are worried that energy will not always be the
priority of such a big organization.

3. The industry is seen by the public as one as the main culprits regarding
climate change although / despite the fact that we have invested a lot of effort and
money in finding solutions.

4. Although / in spite of locomotive changing operations at terminals were, and
still are commonplace, where there is intense traffic, additional movements for loco
changing can restrict the terminal capacity.

5. Your friend should lift your spirits and motivate you to push on ahead
although / in spite of whatever obstacles you encounter,



6. Although / in spite of labour and capital moved freely within countries, from
one region to another and from one occupation to another, factors of production
between different countries were highly immobile.

7. Although / in spite of a human-centred design is already practised by some
researchers it is still difficult to determine, at the beginning of the project, when to
apply the corresponding methods.

8. Although / in spite of Smith had not developed a price related demand
schedule in the modern sense he did recognise that demand for a commodity needed
to be taken into consideration.

9. Although / in spite of having its origins in the late 1780s or earlier, the global
standardisation of containers and container handling equipment was one of the
Important innovations in 20th century logistics.

10. Although / in spite of marketing activation encompasses most marketing
activities a firm will execute, some approaches, in the fields of communication and
customer service, may not qualify as marketing activation.

But contrasts two ideas in one sentence; however contrasts two ideas in two
sentences.

For example:

The first stage, the fast bag drop-off, was working as planned, but the
second stage, an underground conveyor system, had become clogged up.

I don’t agree with many of his methods. However, he is a good scientist.

A successful marketing activation will allow businesses to reach their
strategic goals. There are however challenges that managers will face in putting
in place a marketing activation program

While is sometimes used in the sense of whereas (although, by contrast, ‘in
comparison with the fact that).

For example:

It was an easy task for an expert, while it was dangerous for a novice.

Ex. 6. Translate the sentences. Choose the correct conjunction.

1. While / However conventional search engines ranked results by counting
how many times the search terms appeared on the page, Larry Page and Sergey Brin
theorized about a better system that analyzed the relationships between websites

2. In terms of technology leadership, the software industry has long been led by
IBM. While / However, Microsoft became the dominant PC operating system
supplier.

3. While / However, all modes of transport are used for cargo transport, there is
high differentiation between the nature of the cargo transport, in which mode is
chosen.

4. As of 2009 approximately 90% of non-bulk cargo worldwide is moved by
containers stacked on transport ships. While / However, few initially foresaw the
extent of the influence of containerization on the shipping industry.

5. The United States produces the most nuclear energy, with nuclear power
providing 19% of the electricity it consumes, while / however France produces the
highest percentage of its electrical energy from nuclear reactors — 80% as of 2006.
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6. The pursuit of nuclear energy for electricity generation began soon after the
discovery in the early 20th century that radioactive elements. While / However, the
dream of harnessing "atomic energy" was quite strong, even it was dismissed by such
fathers of nuclear physics like Ernest Rutherford as “moonshine.”

7. This was an extremely surprising result: all other forms of nuclear decay
involved only small changes to the mass of the nucleus, while / however this process
— dubbed "fission".

Ex. 7. Insert a suitable linking word from the box into each gap.

for instance  while  although  because of/dueto  while furthermore
subsequently  after therefore  i.e./namely

the course was voluntary, most students attended.

. The longest day of the year, June 21st, was a time of festivity.
checking the equipment the experiment was repeated.
most people use the train, a minority walk or cycle.

5 Brick is a thermally efficient building material. It is, , Cheap.

6. Demand has increased for summer courses, extra ones are offered
this year.

7. Many writers, Chekhov, have been doctors.

8. the increase in residence fees more students are moving out.

9) The first stage was to write a clear questionnaire 200 people were
interviewed.

10. Mustafa was in the lecture his car was being repaired.

11. For example, programming language theory studies approaches to
description of computations, the study of computer programming itself
investigates various aspects of the use of programming languages and complex
systems

e

Because and because of are used to give a reason. Because is followed by a
sentence but because of is followed by a noun phrase.

People spend a lot of time outdoors because of the mild climate.

Tourists are attracted to the coast because the fishing is fantastic.

Note that in each example , because of and because give a reason after the
statement. Because of and because can also appear before the statement. When
they come before, use a comma.

Because of the mild climate, people spend a lot of time outdoors.

Because the fishing is fantastic, tourists are attracted to the coast.

Ex.8. Use because or because of in the sentences below.
1. This city is a good place for young people the world-class nightclubs.

2. There is a lot of diversity many people from Europe and Asia moved to
Brazil during the past two centuries.
3. Many people retire to warmer climates the weather.

4. Gardening is popular there the valley has ideal conditions for roses.
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5. It is easy to get around the city the government has improved the
public transportation system.
6. A lot of people go there the gourmet food.

Ex. 9. Complete each sentence with a phrase or a statement of your own.
1. I want to live in a big city because

2. My city is beautiful because of

3. My city is interesting because

4. | would like to live in a small town because

5. 1 do not want to live in a big city because of

6. The best city to live in is because of

Ex. 10. Complete the following biography by inserting suitable conjunctions
given in the box.

while SO in addition/furthermore although/though finally
since/because/as after such as despite/in spite of
because of/dueto  and then/later  however

THE BEATLES

The group which became the Beatles was formed in 1960 by John Lennon and
Paul McCartney, with George Harrison and Ringo Starr joining later 1) playing
in small clubs for 2 years their first record, Love Me Do, was released. She Loves
You, in 1963, broke all previous sales records in Britain. 2) their simplicity, the
early Beatles songs 3) Yesterday and Paperback Writer are still seen as
masterpieces of musical genius. 4) , the unusual haircuts and clothes worn by
the Beatles fitted well with the style of the mid-1960s. The popularity of the group
soon spread to the USA and 5) around the world, 6) the media invented
the term ‘Beatlemania’ to describe the excitement that was part of their tours. 7)

their popularity the group were awarded the MBE by the Queen in 1965, 8)
this caused anger among some of the older holders of this award.

In 1966 the Beatles stopped live performances, 9) their music was
becoming too complex to produce on stage. A year later Sgt. Pepper’s Lonely Hearts
Club Band was released, 10) was immediately recognised as one of the most
influential works in the history of popular music. 11) , the pressures of fame
were beginning to affect all the members of the band, 12) that they found it
harder to work together. They played together for the last time in 1969 and 13)
split up in 1970.

Ex. 11. Translate the following sentences paying attention to the
conjunctions and linking words.

1. As long as the train weight remains within the capacity of the locomotive,
any number of vehicles can be attached, although limits will be imposed by platform
or siding lengths. 2. Time needed to handle a single unit is quite short (1 to 1.5
minutes), but in the track area the reach stacker practically cannot serve more than




one track and not more than two storage lanes, even though in dedicated storage areas
third or fourth row stacking is achievable. 3. In addition, in very predictable
operations like commuter services or metro lines, fixed formation trains will be the
most efficient. 4. Although locomotive changing operations at terminals were, and
still are commonplace, where there is intense traffic, additional movements for loco
changing can restrict the terminal capacity. 5. The play begins in a factory that makes
artificial people called robots creatures who can be mistaken for humans — though
they are closer to the modern ideas of androids. 6. Its sentiments also appealed to the
labouring poor, who stood to gain from the opening-up of British markets to imports
of cheap grain from overseas. 7. However, the Japanese HSTs have always been
multiple units in the original sense, having many power cars distributed along the
train. 8. While these supplies have any desirable characteristics, such as simplicity,
low output ripple, excellent line and load regulation, fast response time to load or line
changes and low EMI, they suffer from low efficiency and occupy large volumes. 9.
Switching power supplies are becoming popular because they offer better solutions to
these problems. 10. Since voltages are low, isolation is not usually required. 11.
Apart from finding logistics solutions, logistics providers today are facing an
increasingly tough and highly competitive market. 12 In addition to separate
currencies, each country may have its own financial markets, and set of interest rates,
to reconcile the demand for money in the economy with the supply of money as
determined by the monetary authorities. 13. In addition, certain freight receivers
require timed pickups or deliveries in order to facilitate the unloading or loading of
shipments and to prevent disruption of plant production.

G. Numbers and quantifying expressions

Discussing statistical data is a necessary part of much academic writing:

Approximately 1800 children between the ages of 5 and 12 years were
randomly selected.

Already 3% of the US working population (1.55 million) are employed in
70,000 centres ...

The earth’s atmosphere appears to be gaining 3.3 billion metric tons of carbon
annually ...

... but 5 winters in the 20th century were more than 2.4°C colder than average.

Figures and numbers are both used to talk about statistical data in a
general sense.

The figures in the report need to be read critically.

Digits are individual numbers. Both fractions (12) and decimals (0.975)
may be used.

4,539 — a four digit number

£225,000 — a six figure salary (a number)

Figure (Fig) 3 — Infant mortality rates in twelfth-century France (a diagram)

no final -s on hundred/thousand/million:

Six million people live in the region.
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but: Thousands died in the last outbreak of cholera.
Percentages are commonly used for expressing rates of change:

Ex.1 Study the table below and complete the sentences with percentages.
Overseas students in the university 2008 — 2011

2008 2009 2010 2011

200 300 600 1000

1. Between 2008 and 2009, the number of overseas students increased by
%.

2. The number increased by % the following year.
3. There was a % increase between 2008 and 2011.

When presenting data, the writer must attempt to be accurate without
confusing the reader with too much detail.

In some cases, where the actual number is unimportant, words or phrases
may replace numbers to simplify the text:

43 villages were cut off by the heavy snowstorm.

Dozens of villages were cut off by the heavy snowstorm.

The following words or phrases can be used to describe quantity.

Few students attended her lecture. (less than expected)

Several bodies have been discovered under the temple floor. (3—4)

Various attempts were made to reach the sunken ship. (3-6)

Dozens of politicians attended the opening ceremony. (30-60)

Scores of books are published every week. (50-100).

Ex.2. Re-write the following sentences using one of the words or phrases
above.

1. Only four people responded to the questionnaire.

2. They received nearly 100 applications for the post.

3. She made five or six proposals to improve the team’s performance.

4. He found over 50 factual errors in the article.

5. They made three or four drafts before writing the final report.

Study the following expressions, which are also used to simplify statistics.
one in three — oauH U3 Tpex

a third — ogna tpets / @ quarter — omgHa yerBepras

twice— BaBoe / three times — BTpoe

as many — CTOJIbKO K€

the majority — 6oabimaCcTBO / the minority — MeHBIIMHCTBO

a tenfold increase — necsaTUKpaTHBINA POCT

fifty per cent — 50%

a percentage — OpoLEHT; MPOLEHTHOE OTHOILIEHUE

to double — ynsausats / to halve — cokpaimaTh HanoJO0BUHY




on average — B cpenneM / the average number — cpemnee umcio; cpemHee
KOJIMYECTBO

the most — nanGompImii / the least — HaumeHbIIHIA

a small— ne6ompias / large proportion — Gosbias IponopIUs

Ex.3. Rewrite each sentence in a simpler way, using one of the expressions
above.

1. Of the 415 people interviewed, 308 said that they supported the president.

2. Last year the number of students on the course was 28, the year before it was
20 and this year it is 24.

3. In 1965 a litre of petrol cost 10p, while the price is now 80p.

4. Out of 18 students in the group, 12 were women.

5. The new type of train reduced the journey time to Madrid from seven hours
to three hours 20 minutes.

6. 15 of the students studied law, eight finance and three engineering.

7. The numbers applying to this department have risen from 350 last year to
525 this year.

Ex.4. Rewrite the following sentences to present the data in a simpler way.

Example:

The population of the European part of the former Soviet Union is declining
rapidly. It is forecast to fall by 18 m to 220 m in 2025, and to drop to 140 m by 2100.

The population of the European part of the former Soviet Union is forecast to
fall by nearly 10% by 2025, and by nearly 40% by the end of the century.

1. The numbers of visitors to the temples show a remarkable pattern. In 2008
just 40,000 made the journey, 83,000 in 1999 and 171,000 in 2010.

2. More than 80% of British students complete their first degree course; in
Italy the figure is 35%.

3. Tap water costs 0.07p per litre while bottled water, on average, costs 50p per
litre.

4. Only 8% of the women surveyed believed that they had the same rights as
men. A considerable 37% complained that they had far fewer rights.

5. Life expectancy for men in the UK rose from 49 to 74 during the twentieth
century.

6. The same operation cost & 1,850 at a hospital in Blackburn, £2,400 in
Birmingham and £2,535 in London.

7. In 1086 about 15% of England was forested, compared with only 4.8% in
1870.

Ex.5. Complete the sentences with the words given in brackets.

1. There aren't people working at night. of the staff work during
the day. (most, many)
2. of the timber which was delivered last week was of very poor quality.

We had to return of the boards. (a few, some)



3. We don't manufacture jackets of pure wool. There isn't demand
for them. (many, much)

4. Fibre optic cabling will be used in the future for _ land-based
communications. But, today, only of these communications use fibre optics.
(all, some)

5. At present, only a paper is recycled in the UK. In the future,a
more paper will have to be collected and recycled. (little, lot)

6. In the UK, electricity is generated from nuclear energy or fossil fuels
and very renewable energy sources have so far been developed. (few, most)

There are some other quantifying expressions which are widely used in
academic English. You can use a large / great amount of (muoro) of an
uncountable noun such as money, interest influence, etc. However, you can use a
large number of (muoro) of a plural noun such as articles, books or words. Both
an amount and a number can be described as small, considerable, substantial,
significant, enormous, total, surprising, excessive, fair, reasonable.

Study the table below and translate the examples:

expression examples
exceeding — upe3MepHbIit Results exceeding 5 cm were eliminated from the
survey.
In excess of — mpeBblIras, ¢ People who drive in excess of speed limit will be
IPEBBITIICHHEM fined.
fewer and fewer — Bce menbiie | Fewer and fewer people are staying in the same
u MeHbIe (s ucuncisiemsix) | job throughout their lives.
less and less — Young people are becoming less and less
BCe MeHbIe U MeHbIne (s | interested in politics.
HEUCUUCIISIEMBIX)
more and more — Bce 6oubiiie U | People are becoming more and more aware of the
OoJbIIIe environment.
more or less — 6ostee wiu MeHee, | The experiment was more or less a Succsess.
PpUOJIM3UTENIBHO
no fewer than — e mensbine yem | No fewer than 200 people responded.
in total — B eom They sent out 2,500 questionnaires in total.
a couple — mapa We spent a couple of hours resting and exploring
the ruins.
bulk — ocHOBHas Macca, The bulk of consumers are based in towns.
OoJIbIIIas YacTh
as a whole — The survey shows that, as a whole, the population
B 1[EJIOM iIs becoming more and more aware of the
importance of recycling.




Ex.5. Rewrite the following sentences to make them sound more appropriate
for academic style. Use adjectives and an amount and a number and which were
given above.

1. The bulk of our work is concerned with carbon emissions.

2. We have noticed that fewer and fewer students are joining the course.

3.0ur team spent a fair amount of time getting funding for the research.

4. In a couple of cases, we could not find any reasons for the outbreak.

5.We spent a great deal of time on the project.

6. As you repeat the experiment, use less and less water each time.

Ex.6. Read the text and answer the questions below.

For some years now, scientists have been using a powerful new machine to
recreate the conditions that existed at the birth of the universe. The machine generates
a massive number of hot, dense bursts of matter and energy, simulating what
happened in the first few microseconds of the beginning of the universe. After no
more than ten microseconds, the particles of matter joined together, like water
freezing into ice, forming the origin of more or less everything we see in the universe
today.

1. Which expression explains how long scientists have been using this
machine?

2. Which expression tells us how many bursts of matter and energy the
machine generates?

3. Which time period does the machine simulate?

4. Which expression states how long it was before the particles of matter joined
together?

5. Which expression in the last sentence means approximately?

UNIT 2

GRAMMAR
A. Verbs — Tenses

a) We use the present simple for

* thoughts and feelings: / think so, | like it.

* states, things staying the same, facts and things that are true for a long
time:

The traditional train comprises a collection of coaches.

In general, the continuous is used to focus on the activity itself or to stress
its temporary nature. Compare the following:

He is writing a travel article. (temporarily)

She writes children’s books. (usually)

b) Also note that certain verbs are rarely used in the continuous. They are
state verbs like prefer, own and believe.

Another similar group is known as performative verbs

(assume, deny, promise, refuse, suggest).



¢) We use the past simple for something in the past which is finished.

Richard Trevithick demonstrated the first locomotive-hauled train in
Merthyr Tydfil, United Kingdom.

We often use the past continuous and simple together when one (shorter)
action comes in the middle of another (longer) one.

As we were driving down the hill, a strange object appeared in the sky.

d) When we use the present perfect, we see things as happening in the past
but having a result in the present.

The design of stations has developed over the years.

We use the present perfect continuous for an action over a period of time
leading up to the present.

She has been writing that report for 6 days.

We can use the present perfect continuous to talk about repeated actions
up to now.

She has been attending the lectures on Mechanics since October.

e) We use the past perfect for things before a past situation.

Staff found that the thief had taken only £4.37.

Ex.1. Translate the following sentences. Decide which tenses are used in
the following examples (verbs in italics) and complete the table to explain why.

1. According to Hoffman (1996), small firms respond more rapidly to changes.

2. Currently, inflation in the US is rising while imports are falling.

3 Since November there has been a significant increase in cases of influenza.

4. In the last three years more students have been working part-time.

5. After the war there was a sharp rise in divorce.

6. During 1998 they were developing a new system.

7. The study was published in June. It showed that in 1998 and 1999 profits
had increased by 55%.

8. The forecast concludes that interest rates will reach 7.5% next year.

9. There are two differing views about passenger safety at stations which have
dictated station design for the last 150 years or more.

10. During the last decade of the 19th century, trains powered by electricity
began to appear.

Ex.2. Choose the correct verb form in each of the following.

1. In this process, the mixture is heated/is heating to 120°C,

2. Once the salts are dissolving/have dissolved, the heat is reduced,

3. Several people have survived/are surviving the earthquake and are
treating/are being treated in hospital at the moment.

4. For security purposes the employees change/are changing their passwords
regularly.

5. Up until now people in this area have takenltake waste plastic to recycling
centres, but at present we have tried/are trying a curbside collection system.

Ex.3. Six of the following sentences contain mistakes. Find the mistakes
and correct them.
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1. Sydney Harbour Bridge was building in 1932.

2. While they were carrying out tests in the laboratories, researchers were
analysing past results.

3. The first real road builders in Britain was the Romans.

4. The Romans built roads of layers of broken stones of various sizes and were
covering them with flat stones.

5. The system didn't working because the loudspeaker had been wrongly
connected.

6. Before factories were told to stop polluting the environment, waste was
being dumped in rivers and in the sea.

7. Louis Pasteur was discovering the action of germs while he was studying
fermentation in wines.

8. The production process had already been shut down when the leak in the
fuel tank was found.

9. Nuclear energy began to be used from the mid-1950s.

10. In the second half of the 20th century, the electronics industry transforming
the way we work in factories.

Complete the following sentences by selecting the most suitable tenses.

1. Home ownership (rise) steadily since 1950.

2. GM (stand for) genetically modified.

3. Last year the police (record) a record number of crimes.

4. When she died in 1986 she (write) over fifty books.

5. By 2050 average temperatures (be) at least 2 degrees higher.

6. At the moment the bank (consider) a merger proposal from Barclays.

7. When the market crashed the company (build) three hotels in Asia.

8. Lee (1965) (dispute) Sakamoto’s theory.

9. In the last 6 years inflation (fall) sharply in Europe.

10. There (be) a trend recently in modern metro systems towards
incorporating glazed screens along platform edges.

Ex.3. Select either simple or continuous in each case:

1. The team at Cambridge (work) on a rare type of brain disease.

2. He (believe) he will finish the study early next year.

3. This magazine (look for) a writer on new technology.

4. In the late 1990s she was working on rice plants but now she
(research) potatoes.

5. The average age of marriage in Britain (rise) by 6 years since 1970.

6. The company (own) factories in twelve countries.

8. Most people in the city (live) within two kilometres of their work.

7. Dr McPherson (attend) a conference in South America this week.

8. A passenger train (travel) between stations where passengers may
embark and disembark.

9. You should Respond to what (happen) now without wasting time on

getting 100 percent accuracy on the cause of the crisis.



10. Changes in travel as well as the increased speed of communications
(lead) to the global business world.

Ex.4. Translate the sentences.

For years, the condition of the family has produced some of the strongest
debate heard in America. The statistics of collapse have appeared simple and clear.
The proportion of children born outside marriage rose from 18% in 1980 to 33% in
1999. The share of households made up of two parents and their children fell from
45% in 1960 to only 23% in 2000.

Ex.5. Read the text below and select the most suitable tense for each verb in
brackets, considering the time phrases in italics.

For a long time gardeners 1) (suspect) that using green fingers is just
as effective as talking softly to plants to encourage growth. Scientists 2)
(develop) a robot that strokes young plants to make them grow stronger and faster.
But after research a year ago 3) (confirm) that plants need the human touch,
scientists at Greenwich University 4) (develop) the stroking machine they
call Dr Green.

Dr Green 5) (be display) at the last Chelsea Flower Show, where it 6)

(demonstrate) the technique of brushing the tips of young plants to produce
stronger specimens. David Carey, who is leading the research, 7) (say) that
the machine could avoid the use of chemicals.

Currently, Dr Green 8) (be test) on a large scale by a commercial
grower. Stroking plants once a day 9) (make) them 30% stronger, which is
what you need before you plant them out.

When another kind of plant was stroked once a week, it 10) (develop)
Increased insect resistance.

The research team hope that a cheap version of Dr Green 11) (be
available) to amateur gardeners by 2007.

B. Verbs — Passives

When describing processes, the passive voice is often used. We can use
passive in different tenses e.g. present simple, past simple, present pefect or we
can use it with modal verbs.

After the goods have been checked, they go into back-up storage.

Station design has reflected this so that platforms were often not raised very
much above rail level.

This second loco is attached to the other end of the train and will be used to
provide power for the return trip.

In the UK platforms are built to the height of the train floor, or close to it.

This system must be fitted with detectors.

A single track freight line might be built for US$ 2 million per kilometre
including electrical and mechanical equipment.

Since the station is the first point of contact most passengers have with the
railway, it should be regarded as the *'shop window"* for the services provided.




Ex.1 Complete the sentences using the correct active or passive form of the
verb in brackets. All the verbs are in present simple or used with modals.
1. After the unit load ___ (check), it goes into automated storage.

2. As soon as an appropriate location _ (identify) by the warehouse
management system, a put-away instruction must ____ (issue).

3. After the vehicle driver _ (report) to the gatehouse, the vehicle
documentation __ (check) by staff.

4. Then the packages _ (process) i.e. they may (label) with bar
codes.

5. The goods (check) on unloading.

6. After that, staff __ (direct) the driver to an unloading bay or a parking

area.

The passive is used when the writer wants to focus on the result, not on the
cause:

The book was written by Charles Dickens. (passive)

Charles Dickens wrote the book. (active)

In the first sentence, the emphasis is on the book, in the second on the
writer. So the passive is often used in written English when the cause (a person
or thing) is less important or unknown.

For example:

The treaty will be signed next year. (by someone)

The tower was destroyed a century ago. (by something)

The cause of the action can be shown by adding by . . .:

The ship was launched in 1908 by Princess Mary.

2. The passive is also used in written work to provide a more impersonal
style:

For example: The findings were evaluated.

Ex.2. Change the following into the passive.

1. We collected the data and compared the two groups.

2. | interviewed 120 people in three social classes.

3. They checked the results and found several errors.

3. We will make an analysis of the findings.

4. First they work out the run times, again by a computer program which
includes the profile of the line.

5. On heavily used lines, the program may incorporate the patronage figures.

6. In Western countries, they will often calculate the standing capacity of a
train at 4 or 5 passengers per sq./m.

7. All trains return to depot within 2 or 3 days so that they can wash and
maintain them.

8. Railways have always provided recovery time in timetables.

An adverb is often inserted in a passive form to add detail:

This process is commonly called ‘networking’.



Ex.3. Change the following sentences from active to passive and insert a
suitable adverb from the box.

For example:

A storm damaged 40% of the houses in the port. —

40% of the houses in the port were badly damaged by a storm.

conveniently  optimistically  helpfully  brilliantly
regularly  precisely profitably  badly

1. The Connors family ran the company until 1981.

2. They had built the house near the station.

3. Picasso painted the portrait of the old man.

4. They provided pencils for all students in the exam.

5. Doctors tested over 550 people for the disease over a 3-year period.
6. The researchers calculated the percentages to three decimal places.
7. They called their business the Universal Trading Company.

Ex. 4. Read the text, translate it and underline the passives.
Platform Screens and Doors

There has been a trend recently in modern metro systems towards
incorporating glazed screens along platform edges. This is only possible where
sliding powered doors are available on trains and where the location of these doors is
always consistent, which is why screen doors do not appear on main line
railways. Platform screen doors (sometimes called "platform edge doors") were first
introduced in St Petersburg (then Leningrad) on the metro to reduce heat losses on
station platforms of underground stations. They were also fitted to the Lille VAL
driverless system but, in this case, as a way of preventing passengers from getting
onto the line where there were no drivers to stop the train. It too allowed a better
degree of climate control within stations. Climate control was also the reason why
doors were introduced for underground stations in Singapore when its metro system
was started in 1989.

On most lines equipped with platform screen doors, the space between the
sliding doors has emergency doors that can be pushed open onto the platform, so if
the train stops out of position, there is still emergency access to the platform. There
are also local station door controls provided at the platform ends, in case the
automatic system fails.

London Underground has introduced doors on the underground platforms of its
new Jubilee Line extension. These are more for safety reasons, since the suicide rate
in London has gone as high as 150 attempts in some years. At somewhere around
USD 1.5 million a platform, these doors are not cheap but the savings in passenger
time due to prevention of delays quickly justifies the expense on a socio-economic
level, even if you choose to ignore the savings in human life. Here is a photo of the
doors at the new Canary Wharf station (Jubilee Line) in London. Click on the image
for the full size view.



Ex. 5. In the following description of how plastics are shaped, put the verb in
brackets in the correct form.

There are many ways of shaping plastics. The most common way is by
moulding. Blow-moulding 1) (use) to make bottles. In this process, air 2)
(blow) into a blob of molten plastic inside a hollow mould and the plastic 3)
(force) against the sides of the mould.

Toys and bowls 4) (make) by injection moulding. Thermoplastic chips
5) first (heat) until they melt and then forced into a water-cooled mould under
pressure. This method 6) _ (suit) to mass production.

Laminating 7) (produce) the heat-proof laminate which 8) (use),
for example, for work surfaces in kitchens. In this process, a kind of sandwich 9)

(make) of layers of paper or cloth which 10) _ (soak) in resin solution.
They 11)  then ___ (squeeze) together in a heated press.

Thermoplastics can (12) (shape) by extrusion. Molten plastic 13)

(force) through a shaped hole or die. Fibres for textiles and sheet plastic may 14)
(make) by extrusion.

C. Modal verbs

Modal verbs used tend to have three main meanings:

a) Ability

May and can are similar but can is more common:

The assessment ... may be made in a variety of ways

... with smaller samples this method cannot be used ...

... one faculty can have more than one academic programme ...

b) Degrees of certainty

Will and should are used for predictions of near certainty (will is stronger):

... in the knowledge that the parent will be there when needed

Improved facilities should lead to lower staff turnover

May and might both suggest possibility:

Landfill carbon sequestration might supplement fossil fuel combustion ...

... multiple factors may lead to a psychiatric consultation ...

There is a continuous form: may/might be -ing.

Don't phone at 8.30. I might be watching (or I may be watching) the
football on TV.

For the past we use may have (done) or might have (done):

Would and could are used in conditional situations (not always with if):

... or would we conclude that the observation is uninformative?

... estimates of the model’s parameters could conceivably be computed ...

We can use these language forms to make speculations about the past.

Active:

A girder could / might / may have broken. (possibly)

The girder might / may not have broken. (possibly)

One of the bearings must have corroded. (definitely)

A bomb can’'t/ couldn't have caused the damage. (definitely)

c) Degrees of obligation




Must suggests strong obligation; should is for recommendations:
To obtain a total estimate ... several approximations must be used
A primary research emphasis ... should then be on identifying ...

Ex.1. Complete the following sentences with a suitable modal verb and
translate the sentences.

1. The question is whether democracy _ survive in such difficult
conditions.

2. Fifty years ago a new house be bought for £ 1500.

3. Students be expected to write more than one long essay a week.

4. Although engineering solutions make use of scientific principles, engineers

also take into account safety, efficiency, economy, reliability and

constructability or ease of fabrication, as well as legal considerations such as patent
infringement or liability in the case of failure of the solution.

5. Jenkins (1976) argued that aluminium be used in place of steel.

6. Engineering projects be subject to controversy.

7. Scientists also have to complete engineering tasks, such as designing
experimental apparatus or building prototypes.

8. To embody an invention the engineer put his idea in concrete terms,
and design something that people use.

9. The mistakes of past historians now be clearly seen.

10. The method often adopted is to collect fares on trains but this not be
effective for high capacity trains with short distances between stations.

Ex.3. Complete the following with a suitable modal of certainty and translate
the sentences.

1.1t not be surprising if the company were bought by a rival.

2. Various social situations lead to a child’s loss of confidence.

3. Other studies confirm that a permanent shift in transport use occur.

4. By 2020 most children have internet access by the age of five.

5. If the pressure is lowered, the reaction take place more quickly.

6. In the long term, solar power make a significant contribution.

Ex.4. Use a suitable modal of obligation to complete the following and
translate the sentences.

1. Students studying abroad take some of their favourite music with
them.

2. All books be returned to the main library by June 19th.

3. First-year undergraduates take at least three modules from the list
below.

4. The second part of the essay focus on the differences in the results.

5. Recovery time be strictly limited and eliminated altogether when
possible.



Ex.5. In the following sentences, the meaning changes according to the
modal verb used. Find two possibilities, giving the meanings in each case.

Example:

Using the internet means the company can sell its products worldwide. (ability)

Using the internet means the company might sell its products worldwide.

(possibility)
1. a) The poorest people be helped by improving the supply of water ()
b) The poorest people be helped by improving the supply of water ()
2. a) Tribal leaders of the 1st century BC have used writing. ()
b) Tribal leaders of the 1st century BC have used writing. ()
3. a) Few people agree to take part in the experiment. ()
b) Few people agree to take part in the experiment. ()
4. a) Care always be taken when interpreting 19th-century data. ()
b) Care always be taken when interpreting 19th-century data. ()
5. a) By the mid-21st century poverty be abolished. (.. . ... )
b) By the mid-21st century poverty be abolished.
6. a) Repeating the study confirm their findings. ()
b) Repeating the study confirm their findings. ()

Ex.6. These statements were made after investigations into disasters.
Change them into speculations made before the investigations, using the words
in brackets. Do not use the words in italics.

Example: The rail crash was definitely caused by a broken rail. (must) ———

The rail crash must have been caused by a broken rail.

1. The rail possibly suffered thermal shock due to excessive heat. (may)

2. Maybe the aircraft did not have a mechanical fai lure. (might not)

3. Perhaps the flight crew fell asleep due to cabin depressurisation and lack of
oxygen. (could)

4. The captain probably wanted to save time by steering close to the headland.
(might)

5. He possibly did not realise that the depth of water in the channel was
insufficient. (may)

6. The houses definitely didn't collapse in the earthquake because of a design
error. (can't)

7. The disintegration of the bridge was probably not caused by substandard
concrete. (might not)

D. Comparisons

Many adjectives have three forms: positive, comparative and superlative.
Manson's factory is noisy. (positive adjective)

Burton's factory is noisier than Manson's. (comparative adjective)
Denham's factory is the noisiest. (superlative adjective)



1. If the positive adjective has one syllable, we form the comparative by
adding -er and the superlative by adding -est:

positive comparative superlative
clean cleaner the cleanest
safe safer the safest

If we compare two objects, we use than in the comparison:
Burton's factory is noisier than Manson's.

If we compare more than two objects, we use the in the superlative.
Denham's factory is the noisiest.

2. If the positive adjective has two syllables and ends in -y, -ow or -le, we
form the comparative by adding -er and the superlative by adding -est:

positive comparative superlative
healthy healthier* the healthiest*
narrow narrower the narrowest
simple simpler the simplest

*in two syllable adjectives ending in -y, the -y changes to -i in the
comparative and the superlative

3. For other adjectives with two syllables or more, we form the
comparative with more and the superlative with most:

positive comparative superlative
dangerous more dangerous the most dangerous
flammable more flammable the most flammable

4. There is a small group of adjectives with irregular comparative and

superlative forms:

positive comparative superlative
good better the best
bad worse the worst
little less the least
many / much more the most
far father / further the farthest / furthest

Ex.1. Five of the sentences below contain a mistake. Find the mistake and
correct it.

I. This silk fabric is the best quality we produce.

2. Following the fire, many more people have been affected by smoke as we
had originally thought.

3. Pollution of the ground is most sedous in area A than in area B.

4. Please wear ear protection because it's noisier here than in the other areas.

5. The locked cabinet contains some of most poisonous chemicals there are.

6. That was the loudest explosion I've ever heard.

7. These chemicals should be kept in good container s than these.



8. Sending the goods by air is certainly the most quick but it's als o the most
expensive.
We can modify a comparison in a more specific way, like this:

This motorbike is far more expensive
This car accelerates | much less quickly

agreatdeal | more slowly than that one.

a lot

slightly

a little

or like this:
The new three times larger than the old one.
hard drive is | ten percent
a third

This engine | twice as powerful as that one.
IS half

Ex.2. Fill in the gaps with modifying comparatives and superlatives using the
words from the box and superlatives in brackets.

1.

lathird twice far slightly |
(Overall length: Seikan Tunnel, Japan = 53.85 km, Channel Tunnel, UK to
France = 50 km)
The Seikan Tunnel is (long) the Channel Tunnel.

. (Length under seabed: Seikan Tunnel = 23.3, Channel Tunnel = 37.9)

The length of the Seikan Tunnel under the seabed is about (short) the
Channel Tunnel.

(Depth below seabed: Seikan Tunnel = 140m, Channel Tunnel = 45m,
Eiksund Tunnel = 287m)

The Eiksund Tunnel is (deep)

(Construction: Seikan Tunnel = 1971 — 1988, Channel Tunnel = 1987 —
1993)

The Seikan Tunnel was built (slow) the Channel Tunnel.

(Cost of Channel Tunnel: original estimated cost = £ 4.8 billion, final cost =
£10 billion)

The final cost of the Channel Tunnel was its original estimated cost.

Ex.3. Compare the differences between these two types of light bulb

CFL bulb Incandescent bulb
Energy input (watts) 13 60
Light output (lumens) 810 830
Useful life (hours) 10,000 1,500
# bulbs for 10,000 hours 1 6.7




Bulb costs 1 @ €2.7=€2.7 6.7 @ €0.22 =€1 .5
Electricity used (kW hours) 130 600
Electricity cost (@€0.55 per €71 .5 €330

kWh)

Total cost (electricity + €74.2 €331.5

bulb)

Examples: An incandescent bulb consumes much more energy (or many more
watts)than a CFL bulb. A CFL bulb lasts more than six times as long as (or six times
longer than) an incandescent bulb.

E. Articles

A(n) and one are related but not identical. As you know, a(n) indicates that
the noun is any single item, rather than a specific one.

A(n), therefore, can never be used with plural or uncountable nouns.

A(n) is typically used with the first mention of a singular countable noun,
but not always. There are a number of linguistic contexts that require the use of
the.

A modern passenger multiple unit train is now made up of a number of inter-
dependent vehicles

Usually, no article (0) is necessary for the first mention of a plural or an
uncountable noun where none of the special conditions for definite article use
apply.

Units can operate singly providing driver's cabs are provided at both ends -
or coupled to form longer trains.

The definite article is used to specify a particular noun, to make clear that
reference is being made to a particular singular or plural noun. The definite
article should be

used in the following contexts:

* Second mention (either explicit or implicit)

a. The surface is covered by a thin oxide film. The film protects the surface
from corrosion.

b. A very lightweight car was developed, but the vehicle performed poorly in
crash tests.

c. A new computer was purchased to complete the process, but the hard drive
was damaged.

e Superlatives or ordinals

a. The most controlled therapy yielded the best results.

b. The first studies were conducted in early 1993.

c. The last security conference was termed a success.

» Specifiers (such as same, sole, only, chief, principal , etc)

a. The same subjects were retested at 2-week intervals.

b. The only research previously done in this area yielded mixed

results.




c. The principal causes of the disaster have yet to be discovered.

 Shared knowledge or unique reference

a. The sun rises in the east and sets in the west.

b. The oxygen balance in the atmosphere is maintained by photosynthesis.

c. The stars are fueled by fusion reactions.

» off-phrases or other forms of post-modification (but not with first
mention of partitive off-phrases (a construction which denotes part of a whole)
such as a molecule of oxygen, a layer of silicon, or a piece of information)

a. The behavior of this species varies.

b. The price of gold fluctuates.

c. The results of the investigation were inconclusive.

* Partitive off-phrases with plurals

a. None of the projects was satisfactory.

b. Some of the subjects had adverse reactions,

c. All of the guestionnaires were returned.

 Names of theories, effects, devices, scales, and so on, modified by a
proper name used as an adjective

a. the Doppler effect

b. the Heisenberg uncertainty principle

c. the Hubble telescope

d. the Kelvin scale

Note, however, that when a proper name is used in possessive form, no
article is used.

a. Coulomb's law

b. Einstein's theory of relativity

c. Broca's area

d. Wegener's hypothesis

Ex.1 Fill in the gaps with articles a, an, the if necessary.
1) writing is 2) complex sociocognitive process involving 3)
construction of recorded messages on 4) paper or some other material
and, more recently, on 5) computer screen. 6) skills needed to write
range from making 7) appropriate graphic marks, through utilizing 8)
resources of 9) chosen language, to anticipating reactions of 10)
intended readers. 11) writing as composing needs to be distinguished from 12)
simpler task of 13) copying. 13) writing is slower than 14)
other skills of 15) listening, 16) reading, and 17)
speaking. It is further slowed by 18) processes of thinking, 19)
rereading what has been written, and 20) revising. 21) writing is not
22) natural ability like speaking, but has to be acquired through years of 23)
training or schooling. Although 24) writing systems have been in
existence for about 5,000 years, even today, only 25) minority of 26)
world's population knows how to write.



Ex.2. Read this passage and fill in the gaps with articles a, an, the if
necessary.
Asl) average population of 2) United States has increased, so too
has increased 3) number of hearing impaired individuals. Approximately 4)
20 million hearing aids are now in use, and this number is expected to rise.
Although there have been 5) considerable advances in 6) hearing aid
technology, they still have 7) drawbacks, one of 8) number of 9)
most notable ones being problems in dealing with 10) important
environmental sounds. For example, 11) people who are deaf in both ears are
unable to determine 12) direction of 13) sound with 14)
conventional hearing aid. This limitation could result in 15) accident or
injury if 16) wearer cannot decide 17) direction of 18) siren or
19) other warning sound. Another problem concerns people 20)
suffering from 21) high-frequency hearing loss. This type of 22)
hearing loss removes many consonants and other useful environmental noises, such
as 23) ringing of 24) telephone.

Ex. 3. Now, edit the rest of the passage on hearing aids, inserting articles
necessary. The first sentence has been done for you.

To overcome these limitations, researchers have been investigate a the
possibility of multiprogrammable hearing device that could perform two functions.
One would be to convert high frequency information to low frequencies that fall in
range of normal hearing. Other would involve producing LED display that could
indicate probable direction of sound. Since same device can perform two functions, it
could be used by wider range of consumers than conventional devices. Prototypes of
device are currently being tested. If successful, it should be commercially available
within next five years.

Generic nouns, however, are equally important. Generics are as important
as specific nouns for academic writing because

1. they more frequently occur in highly formal English;

2. they are more likely to occur in introductions and conclusions,

because they are closely associated with generalizations (often of an
abstract nature);

3. they are often associated (when they occur) with initial (and topic)
sentences in paragraphs; and

4. they tend to occur in the subject position in sentences (either as the
subject or following off-phrases).

A generic noun or noun phrase can represent an entire class or can be one
representative of a class of objects, people, quantities, or

ideas. A generic noun is like an archetype in that it manifests what is
typical for the class. For this reason, generics are used in formal definitions.

The specific noun phrases refer to something real. The generic noun
phrases, on the other hand, refer to either an entire class or a representative of
the class. You may have noticed in the table that there are different types of
generic noun phrases. Can you describe the differences?



Specific versus Generic Noun Phrases

Specific

Generic

The disinfectant caused an allergic
reaction.

A disinfectant is an agent capable of
destroying disease causing
microorganisms.

The solar car engineered at the University
of Michigan won the race.

A solar car would certainly result in a
cleaner atmosphere.

The computer crashed in the middle of
the program.

The computer has the

typewriter.

replaced

The trees in this region have suffered
from the drought.

Trees are valuable in maintaining air
quality.

Add some water to the solution.

Water is essential for all living beings.

Generics can generally be divided into two different types: the abstract
generic and the concrete generic. An abstract generic refers to an entire class of
objects, while the concrete generic refers to a representative of a class. Look at

the examples in the table.

Abstract Generic versus Concrete Generic

Abstract generic: the entire class

Concrete generic: a representative
of the class

The wasp can detect unique volatile
compounds over great distances.

A wasp can be trained to detect odors.

The laser has a great many uses in
medicine.

A laser can be used by a surgeon to make
very clean cuts.

The computer has been invaluable in
scientific advancement.

Computers are playing a growing role in
all aspects of university life.

When was the telephone invented?

Concrete is relatively cheap.

Abstract generics require the, while concrete generics use either a (with a
singular countable noun) or 0 (for plural countables and uncountable nouns).

Ex.4. Read this passage and gaps with articles a, an, the if necessary.

Much has been learned about 1) brain in 2) last 150 years. 3)

brain, 4) most complicated organ of 5) body, contains 6)

ten billion nerve cells and is divided into 7) two cerebral hemispheres

— one on 8) right and one on 9) left. Interestingly, 10) left
hemisphere controls 11) movements on 12) right side of 13)

body, while 14) right hemisphere controls 15) movements on 16)

left. 17) researchers also know that specific abilities and behaviors

are localized; in other words, they are controlled by 18)

specific areas of 19)

brain. 20) language, it seems, is highly localized in 21) left

hemisphere. In 22)
damage to 24)

1860s Dr. Paul Broca discovered that 23)
front left part of 25) brain resulted in 26)




telegraphic speech similar to that of young children. Soon thereafter, Karl Wernicke

found that 27) damage to 28) back left part of 29) brain,
resulted in 30) speech with 31) little semantic meaning. These two
regions in 32) brain are now referred to as 33) Broca's area and 34)
Wernicke's area.
Although there is some debate surrounding 35) specialization of brain,
36) researchers generally agree that 37) speech is controlled by 38)
left side. There is no debate that in 39) great majority of cases, 40)
injuries to 41) left side nearly always have impact on 42)
speech.
APPENDIX

Latin Phrases

A.D. — anno Domini — Haie# 3pbl

ab initio — ¢ BO3HUKHOBCHHUS

ad hoc — ma manHOTO CiIyYast

ad infinitum — 10 6eCKOHEYHOCTH

ad lib — ad libitum — o cBoemMy ycMOTpeHHIO, 10 JKEITAHUIO, TTO CBOSH BOJIC
A.M. — ante meridiem — o nonyaus

antebellum — noBoennsIit

a fortiori — Tem Gosee

a posteriori — arocTepropH, Ha OCHOBAHUH YK€ UMCIOIIUXCS TAHHBIX
a priori — anpuopu

bona fide — modpocoBecTHO

C. Or ca. — circa — npuOJM3UTEIBHO

caveat — npenynpexacHue

ceteris paribus — nmpu npo4nx paBHBIX YCIOBHUAX

cf. — confer — cpaBuu

CV — curriculum vitae — pe3rome

de facto — me-daxkro, hakTHuecku

de jure — ne-rope, POPUINICCKU

eg. — exempli gratia — nanpumep

€90 —CyOBeKT, 30

errata — erratum — coMcox orne4aTox

et alii — u mpoune

etc. — etcetera — u Tak nanee

ex post facto — Ha ocHOBaHMH 3aKOHA, UMEIOIIETO O0OPATHYIO CHITY
ibid. — ibidem — Tam xe

I.e. —id est — To ecTh

infra — HIke

INn memoriam — ¢ namsime

In situ — Ha cBoeM MecTe



inter alia — mexxy nmpounm

in toto — B nemom

IN Vitro — B HCKYCCTBEHHBIX YCIOBHIX

IN VIVO — B €CTECTBEHHBIX YCIOBHUAX

loc. cit. — loco citato — B yrmomsiHyTOM, IPOLIUTHPOBAHHOM MECTE
locus classicus — kimaccuueckas nuTaTa 1o JaHHOMY BOIIPOCY
N.B. — nota bene— "npumu k cBegeHno"; HoTabcHEe

op. cit. — opere citato — muTHpyeMoe COYMHEHUE

passim — Be3Je, MOBCIOTY

per capita — Ha qynry HaceJICHHS

per diem — cyTouHbIi

P.M. — post meridiem — nocye moxyaHs

postmortem — nmocMepTHBIN

pro rata — mpornopIuoHaIbHBIH. .

P.S. — postscript — mocTckpunTym

quid pro quO — KoMIIeHCaIUs, HeTOpa3yMEHUE

sic — Tak! (moMeTa, KOTOpasi CTABUTCS B KHUTAX HAIIPOTHB CJIOB, ICPEITMCAHHBIX M3
JAPYroro NCTOYHHUKA W TPEACTABICHHBIX B HCHOPMATHUBHOM aBTOPCKO# opdorpadun)
sine die —He Ha3HAYUB ATHI

sine qua NON — HEeNPEMEHHOE YCIIOBHUE

status qUO — cTaTyc-KBO, MTOJIOKEHUE BEILEH

supra — BBbIIIe, paHee

viva (VoCe) — yCTHBI# dK3aMeH

viz. — videlicet — a mmenHo
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